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' lim _ * [ )
1'F'C’h—»oh x't‘f‘Wdt (lo/,)

2. Find feo if
(0\)1c<><)=><(><'-1)(><'-2)~-'~(‘><’-n) (5%)

(b ()= x;i —(5%)

<. Evaluate the --Fol[owinci u'n'szrals :
(@) ﬁ (cosF +X°+ x*sinx +x7 ) dx  (57%)

() j tane sects d& (5 7%)
@) [(nt)” dt (5%)
(al)ﬂ‘ jfr:ﬁ Sin(xZ+y*) dxdy (57%)

Y- Use the methed of Lakﬂmhﬂe multipliers to find the maximum value
of fixy.z)=X+2y+2% onthe sphere xP+y?+ ¥ =] (107
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7. Find the following limits: (10%)

. 2
mlim, (ﬁ) =? wheren > 4

1
2nd+n2+4n )1 —

2)1i (
@1, o n3+3n2+2n+1

8. Find 1 + - =(5%
. Fin =
1+sin®2x  1+esc2x (5%)

9. Solve the following differential equations : (10%)

Wy ' +4y=8x @y =e 2%

10.Find the Taylor polynomial of degree 3 for

f(x) = 1-x+x’-3x> about the point a = 1. (10%)

f xdx
RS 2ixet ? %)




